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UPCOMING ONLINE BATCHES
April 2022

06 April 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
RBI ONLINE LIVE CLASS

BILINGUAL

13 April 2022

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

11:30 AM to 01:30 PM

BANK ONLINE LIVE CLASS

(English & Bengali)

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

05:30 PM to 06:30 PM

CCC ONLINE LIVE CLASS
(NIELIT COMPUTER COURSE)

20 April 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS
(English & Bengali)
01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

10:30 AM to 11:30 AM

ENGLISH SPEAKING COURSE 2022

(ENGLISH SPEAKING COURSE)

27 April 2022

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL

@ www.mahendras.org ) 7052477777/7052577777
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debasish chakraborty 7 hours ago

Homework :

1.11m

2.13m

Thank you mam. Awesome session.

b GR REPLY

Mohit.. 9 hours ago

Thank-you Madam for this Amazing class of today's.. aa

And
My answer for today's 2nd Hw is-
1). Option D-11m.._

Read more

b GR REPLY

Bhavika Goyal 2 hours ago
Homework question :
1st - option (D) 11 m
2nd - option (C) 13m
Thank u mam (22

gy GF REPLY

N

4
o

Madeem 5 hours ago

{J Homework Answer
.Ans 1:-0OptionD-11Tm
. Ans 2 - OptionC =13 m
# Thank you Mam -;f, L

oy &R REPLY

Mabanita De 8 hours ago

H.W-1.optionD(11m).2.optionC(13m).thank u ma'am ..':.:il"IIIr

b GF REPLY

AD SAHA 7 hours ago

11 mand 13 m. Thank You

ay &R REPLY
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Input- 65 18 41 53 72 34 89 26
Step1- 195 36 123 159 144 267

\/\/\/\/\/\/\/

Step2- 159 159 36 303 76 335 215

Step3- 45 45 18 0 42 45 10
Stepd- 225 225 9 0 21 225 5

Input: 25 22 93 56 17 74 39
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Input- 25 22 93 56 17 74 39 . What is the sum of the numbers at both the ends in step
Stepl- 75 44 279 112 148 117 | |ll of the given arrangement? (a) 36 (b) 63 (c) 60 (d) 123 (e)

\/ \/ \/\/ \/ \/ None of the above

Step2- 31 323 167 163 97 265
Step3- 3 18 42 18 63 60 Which element is 2nd to the right of the one which is 4th
Step4- 15 9 21 9 315 30 | tothe left elementinstep I? (a) 112 (b) 44 (c) 148 (d) 75
(e) None of these

What is the products of the numbers which is 3rd from the
right end and 3rd from the left end in final step of the
given arrangement? (a) 189 (b) 72 (c) 13.5 (d) 180 (e) No
such step
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A & B means A is 15 m to the north of B
A @ B means Ais 23 m to the east of B

A # B means A is 20 m to the south of B
A % B means A is 12 m to the west of B

HFP%Q#R&S @ T#U is true and Point X is 5m
to the south of T, then what is the shortest
distance between point X and point P? (a) 6m (b)
8m (c) 10m (d) 11m (e) None of these

What is the shortest distance between Point P
and Point S? (a) 11m (b) 12m (c) 13m (d) 14m (e)
None of these
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EK3

For Step-2: (i) If the alphabets contain one consonant and one vowel and the
number with them is greater than 3, then subtract 3 from the given number.
(ii) If the alphabets are two consonant and the number with them is greater

than 5, then change the letters with the previous letter in alphabetical

series.

Interchange the Alphabets to get step 1 as
arrows mention in the above figure.

UL4 | 02 F3
MT9 AC7
EK8 | RS55 I

For Step-3 : step 3 is coded in some special pattern.

UL1 | 02 | F3
LS9 AC4
EKS | RS5 I

EK5 | RZ |
UL1 F3
LS9 |WX5 | AC4

=

*

A5 L[XB FT2
FARES S BC6
G5 S7 MO
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A5

¥

LM3

¥

FT2

i\
ZU 8:<>}<BC6
v

G5

S7

MO

Which element comes in step-2 in the second
column of third row? (a)LM7 (b)KL7 (c)ZU3
(d)AB8 (e)None of these

Which element replaces ABS8 in step-3? (a)PQ7
(b)ZU3 (c)FT5 (d)MO2 (e)None of these

MO5

53 | G2
BCS ZU6
FTS |LM7 | A

V3

MO2| 53 | G2
ABSB ZU3
FTS | KL7 | A

FTS A
MO2 G2
AB8 | PQ7 | ZU3
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There is 3*5 matrix which can produce signals which in turn help in the illumination of some bulbs. The
row of the matrix are denoted by @, % and # from bottom to top and the columns are denoted by the
alphabets A, B, C D and E from left to right. : @ row contains number which are consecutive multiple of
7, staring from 28 (from left to right). % row contains number which are consecutive multiple of 11,
starting from 11 (from left to right). # row contains number which are consecutive multiple of 13,
starting from 13 (from left to right)

The matrix helps in producing signals which can be either a single string of number Xor two-line string X
and Y. There are 4 lights P, Q, R and S. Based on the outcome of the strings mentioned above one of the
light blinks.

For outcome of the string:

1. If the string has all even numbers, then outcome of the string is obtained by adding all
the numbers.

2. 1f an odd number is followed by an even number then the one’s places of all the two-
digit numbers are deleted and, tenth place are multiplied to get the outcome

3. If the string contains 2 prime number, then the tenth’s place is deleted from each of
the two-digit number and remaining number are multiplied.

4. 1f no above logic is followed, then simple outcome is addition of the numbers.
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Condition for blink:

1. If the outcome is below 85, then P will blink
2. If outcome range is 85-110, then Q blinks

3. If outcome range is 111-210, then R blinks
4. If outcome is greater than 210, then S blinks

If x =#C %D #A #E, then which bulb blink?
(a) S(b) Q (c) P (d) R (e) EitherRor S

Af X = @A @C #D %B, then which bulb blink? (a) S (b) Q (c)
P (d) R (e) Either Por Q

For outcome of the string:

1. If the string has all even numbers, then outcome of the string is obtained by adding all

the numbers.

2.1f an odd number is followed by an even number then the one’s places of all the two-
digit numbers are deleted and, tenth place are multiplied to get the outcome
3. If the string contains 2 prime number, then the tenth’s place is deleted from each of

the two-digit number and remaining number are multiplied.

4. 1f no above logic is followed, then simple outcome is addition of the numbers.

Rowsl/Column— | A B C D E

# 13 26 39 52 65
% 11 22 33 s 55
@ 28 35 42 49 56
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Condition for blink:

1. If the outcome is below 85, then P will blink
2. If outcome range is 85-110, then Q blinks

3. If outcome range is 111-210, then R blinks
4. If outcome is greater than 210, then S blinks

For outcome of the string:

If X = HA%E %A @B, then which bulb blink? (a) S (b) Q (c) P
(d) R (e) Either Por Q

If X =@A#B@D%C, then which bulb blink? (a) S (b) Q (c) P
(d) R (e) EitherRor S

1. If the string has all even numbers, then outcome of the string is obtained by adding all

the numbers.

2.1f an odd number is followed by an even number then the one’s places of all the two-
digit numbers are deleted and, tenth place are multiplied to get the outcome
3. If the string contains 2 prime number, then the tenth’s place is deleted from each of

the two-digit number and remaining number are multiplied.

4. 1f no above logic is followed, then simple outcome is addition of the numbers.

Rowsl/Column— | A B C D E

# 13 26 39 52 65
% 11 22 33 s 55
@ 28 35 42 49 56
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1T FHA B 1 K 3R 1 & o

162cm ¥ 3P AT 21 AT CATE, K BT
TSIt B

Certain number of persons are sitting around a
circular table, which has a circumference of 546
cm. All the persons are facing towards the center.
They are sitting at distances to each other which
are consecutive multiple of six. A is 3rd to the
left of I. Two persons are sitting between K and I.
M is immediate right to L. H sits to the left of G at
a distance of 72 cm. The distance between A and
D is 18 cm. The number of persons sitting
between J and B is same as between B and F. The
distance between E and F is LCM of 6 and 5.
Neither M nor L is neighbor of K and H. The
number of persons sitting between C and | is
same as between | and E. The distance between
K and | is not more than 162cm. Either Cor E is
neighbor of K.
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Certain number of persons are sitting around a
circular table, which has a circumference of 546
cm. All the persons are facing towards the center.
They are sitting at distances to each other which
are consecutive multiple of six. A is 3rd to the
left of I. Two persons are sitting between K and I.
M is immediate right to L. H sits to the left of G at
a distance of 72 cm. The distance between A and
D is 18 cm. The number of persons sitting
between J and B is same as between B and F. The
distance between E and F is LCM of 6 and 5.
Neither M nor L is neighbor of K and H. The
number of persons sitting between C and | is
same as between | and E. The distance between
K and | is not more than 162cm. Either Cor E is
neighbor of K.
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Which of the following represents the distance
between B and F? (a) 144 (b) 72 (c) 99 (d) 108 (e)
none of these

| Who among the following are immediate
neighbor of J? (a) K, L(b) G, A (c)H, M (d) F, D (e)
none of these

Who among the following sits 4th to the right of
the one who is 6th to the left of A? (a) K (b) G (c)
H (d) D (e) none of these

Which of the following represents the distance
between H and L? (a) 144 (b) 180 (c) 345 (d) 108
(e) none of these
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3[TT-3(ETIT 3TETTT-3I¢NT AT 1978, 1982,
1995, 1997, 2013 3N 2015 A UH URAR &
1Y ThiHd o, Td, 3[R, 3, T, SIS |
(mﬁmsrr%mﬁw%rﬁmaﬁ
2018 & fRATa | g1 B9) | 0 3R ) Bt 3M1Y
% oI 18 TY BT 3R g | §, STHL BT T
zla?,amﬁ@aélmtrhawm

geT ufeRt 3] 3R, oS faanfea 81z
T o0 =T 94 H 3(TAT 4TI T, 31 B
HTdT D1 Sheldl Uit g1 30 & T, 3n &1
AT A4 i IS B 1 S, AR BT 5

Six persons J, L, R, O, X, Z of a family born
in six different years 1978, 1982, 1995,
1997, 2013 and 2015. (All the ages of the
given persons have been calculated on
base year 2018 and all the persons are
considered to be born on same date of
same month). There is a difference of 18
years between the ages of O and J. O is
the father of J. L is younger than R. X is
not the oldest person of the family. R is
not married to Z. Z was born in an even
numbered year. L is the only
granddaughter of the mother of O. Father
of O is 4 years older than O’s mother. J is
the son of R.
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Six persons J, L, R, O, X, Z of a family born
in six different years 1978, 1982, 1995,
1997, 2013 and 2015. (All the ages of the
given persons have been calculated on
base year 2018 and all the persons are
considered to be born on same date of
same month). There is a difference of 18
years between the ages of O and J. O is
the father of J. L is younger than R. X is
not the oldest person of the family. R is
not married to Z. Z was born in an even
numbered year. L is the only
granddaughter of the mother of O. Father
of O is 4 years older than O’s mother. J is
the son of R.
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Years

Persons

1978

How is L related to X? (a)grand father (b) grand mother (c)
grand daughter (d) grand son (e) none of these

1982

1995

1997

Who among the following born in 1982? (a) O (b) R (c) X
(d)J(e)L

2013

2015

i |- = R f el =l o

R was born in which of the following year? (a) 1997 (b)
2015 (c) 2013 (d) 1982 (e) None of these

How is R related to Z? (a) Daughter-in-law (b) mother (c)
aunt (d) Daughter (e) none of these

Four of the five are alike in a certain way and hence form a
group, which among the following does not belong to the
group? (a) O (b) R(c) X(d)J (e) L
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a’rmﬁ%ﬁwwﬁraﬁ'ﬁl P,Q,R,S 3R
Tﬁ%;ﬁ@%‘%eﬁvaﬁmﬁeﬁm%l@%n

&1 eI THT U1 UNG HYd & ol 3740 9 U Ufad 1
g 3R g UfeRt 2 F & (3rYld erel} 1 7
qTQ G eafad SET-3MeRT H

:
2
:
5
]
e
3
>

U Al ST
qrelT Afad Ufed 2 H aTd! 317 UG A ard

P AU TR Y TR IST51 D R AP AL
AR 86 §1 E B I[ATS T Wi Tl 81 ¢
T FT UG g | R Y AR SR erell T UHg

¢ | s BT HE el T UHG HA dTdl Afad o1 3R
g e o ¥l 1 0¥ig @ 9 R & 31 a1g aT

=

=] 21}%
|

Ten people are seating on two parallel rows. P, Q, R, S and
T are seating in row 1 and facing towards south. A, B, C, D
and E are seating in row 2 and facing north. They like
different Colors- pink, blue, black, yellow and orange. Two
persons like same color such that one of them s in row 1
and the other is in row 2(i.e. both the persons who like
Pink colour sit in different rows) R sits second from one of
the ends. The one who sits immediate right of R faces C. P
sits right to T but not immediate right. The number of
persons sitting to the left of C is same as the number of
persons sitting to the right of T. D faces the one who likes
yellow. The one who likes pink in row 1 faces the one who
sits 2nd to the left of the one who likes pink in row 2. Only
one person sit between S and the one who likes orange.
The one who likes black sits 3rd to the left of the one who
likes pink in row 2. More than two person sits between D
and A. E does not like pink. C likes yellow. R does not like
orange and pink. S faces the one who likes blue. The one
who likes yellow sits immediate left to R. P does not like
black.
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Ten people are seating on two parallel rows. P, Q, R, S and
T are seating in row 1 and facing towards south. A, B, C, D
and E are seating in row 2 and facing north. They like
different Colors- pink, blue, black, yellow and orange. Two
persons like same color such that one of them s in row 1
and the other is in row 2(i.e. both the persons who like
Pink colour sit in different rows) R sits second from one of
the ends. The one who sits immediate right of R faces C. P
sits right to T but not immediate right. The number of
persons sitting to the left of C is same as the number of
persons sitting to the right of T. D faces the one who likes
yellow. The one who likes pink in row 1 faces the one who
sits 2nd to the left of the one who likes pink in row 2. Only
one person sit between S and the one who likes orange.
The one who likes black sits 3rd to the left of the one who
likes pink in row 2. More than two person sits between D
and A. E does not like pink. C likes yellow. R does not like
orange and pink. S faces the one who likes blue. The one
who likes yellow sits immediate left to R. P does not like
black.
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Who among the following likes blue in row 1? (a) P (b) Q (c) R (d)
S (e) none of these

blue pink  orange black yellow
P Q T R §

row 1
P j— facing south How many persons sit between E and the one who likes black?
(a) Two (b) One (c) Three (d) Four (e) None
Which of the following statement is true regarding S? (a) E faces
T N S — row 2 S (b) A likes same color as S (c) D faces S (d) B sits 3rd left to the
A £ C B D facing north one who faces S (e) none of these

black orange yellow pink  blue

Which of the following color is liked by R? (a) blue (b) black (c)
orange (d) yellow (e) none of these
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Input: 78 former 44 quicker colder 65 taller outer 27 8
Step I: cold former 44 quicker 65 taller outer 27 8 79
Step I1: 9 cold former 44 quicker 65 outer 27 79 tall
Step I1I: form 9 cold 44 quicker outer 27 79 tall 66
Step IV: 28 form 9 cold 44 quicker 79 tall 66 out

Step V: quick 28 form 9 cold 79 tall 66 out 45

Input: warmer 76 94 scraper locker 11 greater 52 39 adopter



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

How many steps would be needed to complete the

[nput: warmer 76 94 scraper locker 11 greater 52 39 adopt arrangement? (a) IV (b) V (c) VII (d) VI (€) None of these

Step I: adopt warmer 76 scarper locker 11 greater 52 3995

Step I1: 12 adopt 76 scraper locker greater 52 39 95 warm _ - e

Sten I11: areat 12 adont scraner locker 52 3995 warm 77 Wha'f will the.addltlon of the numbers Wh.ICh is thl.rd from
-8 P p the right end in step Il and 2nd from the right end in step

Step IV: 40 great 12 adopt locker 52 95 warm 77 scrap IV? (a) 112 (b) 210 (c) 151 (d) 116 (e) None of these

Step V: lock 40 great 12 adopt 95 warm 77 scrap 53

Which of the following would be the difference of the
numbers which is 3rd from left end in step IV and 2nd
from right end in Step 11? (a) 90 (b) 83 (c) 25 (d) 10 (e)
None of these

Which of the following element will be 6th to the left of
3rd from the right end in step V? (a) 95 (b) adopt (c) 40 (d)
scrap (e) None of these
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Statement- More than 9 million high-school students across China are taking the biggest exam of their
lives known as the gaokao, this week. For millions of teenagers, it's a big source of stress. For many
businesses, it's a great chance to make money. Which of the following statements/facts substantiates
the importance of this test for Chinese poeple?

(i) The grueling test determines where the students can go to university and what they'll study.

(ii) Parents are willing to loosen the purse strings to try to ensure success, splashing out on private
tutors, good luck charms and even luxury hotels.

(iii) Chinese students have also begun spending more on drugs and dietary supplements that they
believe will improve their memory and attention.
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wuq-aq%iﬂqﬁm‘- & 90 ATE I 3UH BT 5 TG MU Silg- bt
qaa ,uﬁ&n%@?ﬁlﬁmaﬁmaﬁ$qmﬁmm | el fp IR
& T, Ug 9919 1 UP 98T HId & | BS Uadl & o1, g UAT HHA BT
U® SR HipT 3| RAd A A B9 AT HY/aA I a & forg g9
U410 & Hgwd P1 GfP Bl 67 3
(i) BT Udte ag Meuifva sl ¢ fo o fayfaemey w81 ot aed 8 ¢k
d T 3T B |
g);njmﬁmmﬁﬁrfﬁaaﬂﬁ$muﬁ%maﬂﬁaﬂﬁ%maw%
Eﬂgzﬁ,gswaﬁﬁwﬁw%wmﬁﬁzﬁwﬁ?mﬁmﬁ%l
i) mﬁmmﬁﬁgﬁwwmwmwwﬁm
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(a) Only (i) (b) Both (i) and (i) (c) Only (ii) Statement- Thousands of farmers in drought-hit
(d) Both (ii) and (iii) (e) None of these western Madhya Pradesh have been protesting
for over a week demanding that authorities
increase the minimum price for their crops and
waive their bank loans. Madhya Pradesh is one
of several states that have suffered droughts and
crop failures in recent years. Which of the
following courses of action will help to improve
the current scenario?
(i) Government should punish those involved in
the protests.
(ii) Cloud seeding should be used in such
situations.
(iii) Government should constitute a team to
assess the severity of drought and convince that
appropriate compensation will be paid
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Statement- Drinking in moderation can help

our health, some research has showed.

Many doctors recommend a glass of wine or

beer a night as part of diet plans such as the

Mediterranean diet and the DASH diet,

which have been proven to keep your heart

and brain healthy. However, a new study

suggests that even moderate drinking may

not be great for your brain.

Which of the following can be deduced from

the above statement?

(i) Scientific researches can contradict at
times.

(ii) Moderate intake of wine is less harmful

than cigarette.

(iii) Something which is not good for brain

does not mean it cannot be healthy.
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From which of the following statements it can be
determined that how many persons definitely attend
meeting before D (starting from Monday to
Saturday)?

(a) F attend meeting on Wednesday. Only one attend
between D and F. Only two persons attend
between B and C.

(b) Only three persons attend between A and E, who

attend after Wednesday. Only two persons attend

between E and D. B attend just after D.

(c) No one attend between C and F. B attend on

Saturday. Only two persons attend between F and B.

D attend on one of the days before C.

(d) A attend on Thursday. Only two persons attend

between C and A. Only three persons attend

between B and D, who attend after A.

(e) Cannot be determined from any of the

statements.
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Sol. In this input output question only numbers is arranged in each step. Let us
understand the logic behind it- In each step the numbers are arranged

In step 1: all the even number (input) are multiplied with 2 and all the even numbers
are multiplied with 3.

Step 2:Is given in the pattern as firstly the numbers are subtracted and then added
respectively.

Step 3: The resultant of the multiplication of its digits in the previous step.

Step4: The numbers in the previous step is divided by 2.

Input- 25 22 93 56 17 74 39
Stepl- 75 44 279 112 51 148 117

V'V VVYV V

Step2- 31 323 167 163 97 265

Step3- 3 18 42 18 63 60
Step4- 15 9 21 9 315 30
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In step 3, the elements arranged in the first and third column in the same column in
such way that the element in third row placed in first row and first row element is
placed in second row and second row element is placed in third row. The alphabet of
first row second column is replaced with the alphabet which is placed three places after
the alphabet in alphabetical series. The alphabet of third row second column is replaced
with the alphabet which is placed five places after the alphabet in alphabetical series.

FIS | V3 | A

MO2 (2

'

AB8 | PQ7 | ZU3 u

R

15m

oI 1lm 12m

Q
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3. Ans.{e)

Sol. (i) states a fact that this test will determine the future career of the students and
thus have a significant importance for them. The fact that parents are spending a lot of
money to ensure the comfort of their children and the students spending money on
supplements signifies the importance of this test, So (ii) and (iii) substantiates the
statement.

4. Ans.(c)

Sol. (i) is not an appropriate course of action as it not known from the statement
weather the protest are violent or peaceful. (ii) is preventive measure not a corrective
action. As it is mentioned in the statement that the given state has faced several drought
like situations over the recent years, so (iii) is an appropriate course of action.

5. Ans.(a)

Sol. (i) “However a new study” implies that there might have been some studies
regarding this in the past and “proven to be healthy”. So, (i) is definitely true. (ii) cannot
be deduced as smoking is not mentioned in the statement. (iii) is vague and not in
context with the statement.

6. Ans.(d)

Sol. Five person attend meeting before D.


http://www.mahendras.org/



http://www.mahendras.org/

